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Find The Errors Question IBPS Clerk Pre and SBI Clerk 

Pre 

Find the Errors Quiz 20 

Directions: In the following question, some part of the sentence may have errors. 

Find out which part of the sentence has an error and select the appropriate 

option. If a sentence is free from error, select 'No Error'. 

1. On account of the (A) / high land prices we (B) / are setup the 

factory (C) / on the outskirts of the city. (D) / No error (E) 
A. On account of the 

B. high land prices we 

C. are setup the factory 

D. on the outskirts of the city 

E. No error 

 

2. These goods have been (A) / damaged and hence (B) / should be 

declared (C) / unsuitable for sale. (D) / No error (E) 
A. These goods have been 

B. damaged and hence 

C. should be declared 

D. unsuitable for sale 

E. No error 

 

3. Negotiations with the bank (A) / are at an advanced (B) / stage and 

we hope to (C) / signed the deal soon. (D) / No error (E) 

A. Negotiations with the bank 

B. are at an advanced 

C. stage and we hope to 

D. signed the deal soon 

E. No error 

 



 

 

4. As per the agreement (A) / scientists from both of (B) / the 

countries will work (C) / together to find the solution. (D) / No error 

(E) 

A. As per the agreement 

B. scientists from both of 

C. the countries will work 

D. together to find the solution 

E. No error 

 

5. You have failed to produce (A) / no evidence to support (B) / the 

charge that he (C) / is responsible for the error. (D) / No error (E) 
A. You have failed to produce 

B. no evidence to support 

C. the charge that he 

D. is responsible for the error. 

E. No error 

 

6. Implementing these measures (A) / will help the government (B) / 

to save more of (C) / 400 crores each year. (D) / No error (E) 
A. Implementing these measures 

B. will help the government 

C. to save more of 

D. 400 crores each year 

E. No error 

 

7. The company, which has (A) / won the government contract, (B) / 

also plans to invest (C) / with the power sector. (D) / No error (E) 
A. The company which has 

B. won the government contract 

C. also plans to invest 

D. with the power sector 

E. No error 



 

 

 

8. It is not worthy (A) / the company's reputation (B) / to compromise 

on quality (C) / for the sake of profit (D) / No error (E) 
A. It is not worthy 

B. the company's reputation 

C. to compromise on quality 

D. for the sake of profit 

E. No error 

 

9. He deserves a lot (A) / of praise for all (B) / the records he achieves 

(C) / during his career. (D) / No error (E) 
A. He deserves a lot 

B. of praise for all 

C. the records he achieves 

D. during his career 

E. No error 

 

10. On account of (A) / the new investment rules (B) / more 

companies are planning (C) / for the expansion of its business in 

China. (D) / No error (E) 
A. On account of 

B. its new investment rules 

C. more companies are planning 

D. for the expansion of its business in China 

E. No error 

  

  



 

 

Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

C E D B B C D A A D 

 

Explanations: 

1. 

In part C, use of the auxiliary verb 'are' is erroneous and hence must be replaced 

with 'will' to make the sentence meaningful. 

Hence, option C is correct. 

  

2. 

The sentence is absolutely correct and thus has no error in it.  

Option E is hence the correct answer. 

  

3. 
In part D, as the phrase following the main verb 'hope' has to be an infinitive (to + 

base form of a verb), 'signed' must be replaced with 'sign' to make it a grammatically 

correct sentence. 

Hence, option D is correct. 

  

4. 
In part B, 'both' is being used as an adjective and hence the preposition 'of' which is 

followed by it is not required to make the sentence complete and thus can be 

removed. 

Hence, option B is correct. 

  

5. 
In the predicate part of this sentence, use of two negatives - 'failed' and 'no 

evidence' together is redundant and meaningless. In part B, 'no', therefore, must be 

replaced with 'any' to make it a grammatically correct sentence. 

Hence, option B is correct. 

 

 



 

 

6. 
In part C, the phrase 'more of' must be replaced with 'more than', which means 

'over', to make it a grammatically correct sentence. 

Hence, option C is correct.  

 

7. 
The vreb 'invest' is generally followed by the preposition 'in' and not 'with'. The 

correct formation, hence, will be- The company, which has won the government 

contract, also plans to invest in the power sector. 

Hence, option D is correct. 

  

8. 
In option A, 'worthy' must be replaced with 'worth' to make the sentence 

grammatically correct.  

If something is worth a particular action, or if an action is worth doing, it is 

considered to be important enough for that action. 

Ex. I am spending a lot of money and time on this boat, but it is worth it. 

Ex. This restaurant is well worth a visit. 

Ex. It is worth pausing to consider these statements from Mr Davies. 

Hence, option A is correct. 

  

9. 
In part C, 'achieves' must be replaced with 'achieved' to make the sentence 

grammatically correct and appropriate in the context. 

Hence, option C is correct. 

 

 10. 
In part D, possessive pronoun 'its' will not be used when used in context of many 

countries and must be replaced with 'their'. 

Hence, option D is correct. 
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